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Mixed Topic Homework Sheet 4

1. Calculate (4 +2) x (3 -5)

2. Fill in the gaps on this function machine

7 [ x3 >| 2 >:
3yl w2 >=-22

3. Write the following ratios in their simplest forms,
5:25 3:33 12:66

4. What is the perimeter of the following shape?

12cm? 3 em

5. If I have 10 apples, 3 pears and 2 oranges, what it the
probability of choosing a pear?

6. What is the mode of the following set of numbers?
4,5,8,5,2,6,4,5

7. List 3 multiples of 8.

8. What is the nth term rule of the following sequence?
2,5,8,11,14

9. If a company need 40 potatoes to make 100 packets of
crisps, how many potatoes would they need to make 250
packets of crisps?

10. What is the size of the missing angle labelled

11. Find the median for the following set of numbers:
25,22,13,36,17

12. If the probability winning a game is 0.25, and the
probability of drawing is 0.3, what is the probability of
losing?

13. Write the following in order from smallest to largest:
0.13, 1/10, 2/5,0.25, 50%

14. If a = 3 and b = 6, what would 4a + 3b be equivalent to0?

15. What is the area of a square with a side length of 9cm.

16. If the probability of the next car I see being red is
0.25, how many of the next 300 cars I see would I expect
to be red?

17. Increase 80 by 20%

18. Solve the following equation:
4a-12=-88

19. How many centimetres is 52.5 metres?

20. If the pie chart below represents favourite dinners of
300, how many people chose pizza?

Total: /20

Personal Target:




Mixed Topic Homework Sheet 5

1. Calculate 12 - 3 + (4-2) =

2. Fill in the gaps on this function machine

5 [ x4 >| 20 >
xa_ >[ 20 »= -68

3. If the ratio of red socks to blue socks is 1:6, how many
red socks would I have if I had 24 blue socks?

4. What is the perimeter of a football pitch of length 96m
and width of 60m?

5. If T have 45 counters, 20 are red, b are green and the
rest are blue, what is the probability of not choosing a red
counter?

6. What is the mode of the following set of numbers?
64,58, 64,72, 55, 64,55

7. Express 18 as a product of it's prime factors.

8. Write the nth term rule of the following sequence.
-2,5,12,19, 26

9. If I need 459 of sugar to make 5 donuts, how much sugar
do I need to make 20 donuts?

10. Calculate the size of the angle labelled x, and state the,
reason for your answer.

240°( ()x

11. Find the median for the following set of numbers:
2,8,9,2,4,5

12. If the probability of choosing a strawberry from a bag of
strawberries, pears and apples is 0.37, and the probability of
choosing a pear is 0.12, what is the probability of choosing an
apple?

13. Write the following from smallest to largest:
£062/30.74/5

14.If x = 6 and y = -3, what is the value of
4x + 2y + 3x + By

15. What is the width of a square with an area of 49cm2

16. What is the probability of choosing a red card from a
standard pack of cards?

17. Decrease 140 by 15%

18. Solve the following equation: 4(x + 3) = 64

19. How many metres are in 7.86km?

20. If the bar chart below represents favourite sports of a
group of people, how many chose football?

Our Favorite Sporis

10

Number of Students

football hockey netball other

Crnnrte

Total: /20

Personal Target:




Mixed Homework Sheet 6

1.3 x 42

2. Function Machines

8 [ x4 >| 20 >
xa_ >[ 20 »= -68

3. For every 5 boys on a softball feam there is 1
girl. What is the ratio of boys fo girls?

4. The perimeter of a rectangle is 232 inches. The

width is 36 inches.What is the length of the
rectangle?

5. What is the probability of choosing a green
marble from a jar containing 5 red, 6 green and
4 blue marbles?

6. Mr Smith kept a record of the number of absences for
each student in his class for one term. Here are his results.
0008455321

Write down the mode.

7. Express 210 as a product of it's prime factors.

8. Write the next three terms of the following sequence
12,8,4, __,__,

9. If I need 40g of flour to make 20 breadsticks, how
much flour would I need to make 140 breadsticks?

10. What is the size of angle a

45° Q

11. The highest mark in the Science test was 92. Three
students scored 46 which was 6 marks higher than the
lowest score. What was the range of the scores?

12. If the probability picking a green marble from a bag of
green and red marbles is 0.3. If I choose a marble 100 times
and replace it each time, how many times would I expect to
pick a green marble?

13. Order the following from smallest to largest.

0.31, 0.103, 0.3, 0.1, 0.013

14. Find the value of the following expression if a
=2,b=5andc = 9.
a+b+c

15. What is the difference between the perimeter and area
of the following square?
7m

16. You have a pair of dice. Find the probability of
rolling a prime number on the first die and an even
number on the second.

17. Katie earns £40 per week for her part-time job.
She is to be given a 5% pay rise.
How much will she earn per week after the pay rise?

18. Solve the following equation:

-32=x+3

19. What is 85 L in ml?

20. Based on the pictogram below, how many cupcakes were
eaten on Sunday?

Monday wwwww
Tuesday - ;. .
. - -
wwww =6 cupcakes
Thursday = ; ; 3
wwwwwww
Saturday (IRt B

WwwWwwwwww %
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